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A7 | @A -%2  AK-90%- BE CE] x70% 90% 1069 71[1BIzD&
A7 |BFT-X1-AR-80% A% BE-NERAOARNRECH LGS (FEARE-BXIR) | x70% 80% 1011 10701 BI=D&
AT |@FF-%1-A&%-80%- B n B x70% 80% 1057 35[18I2D&
A7 |BAT-X2- AR-80%- A% BiE-NEBAORMMNBEEIHLLVEES (FEARE-EXIR2) | xT70% 80% 1035 21551 §I=D0F
A7 | @A -%2 AR -80%- BE v BE x70% 80% 1077 71[1BIzD&
A7 |BAT-X1-AR-70%-BEE BiE-TEBAOAMNBEEIHLLVEES (FEARE-EXIR) | x70% 70% 1019 1,070[1BI=D&
A7 | @R AK-70%- BE v BE x70% 70% 1063 35|18z
A7 |BAT-X2-AR-70%-BEE BE-NEBAORMMNEEIHLLVEES (BEARE-EXIR2) | x70% 70% 1043 21551 §I=D0F
A7 | @A -%2  AR-70%- BE v BE x70% 70% 1085 71[18IzD&




